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instructions and in addition can also debar the candidate from appearing in the Examination, to be held in future and can also file criminal
proceedings.
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Which is the longest National Highway in India?
(A) NH-5 (B) NH-6

(C) NH-7 (D) NH-15
Question Id; 1

What does this sign (in red colour) mean?

w

(A) Stop
(€) No parking

(B) One way sign
(D) No stopping
CQuestion Id: 2

A basic rule when on highways is
(A) use the lane that has least traffic

(B) keep the left lane unless overtaking
(€) overtake on the side that is clearest

(D) try to keep above 50 kmph to prevent
congestion

Cuestionld : 3

Parking prohibited in the following case :

(A) road side.
(B) where parking is permitted.
(€} near traffic light (D) Paid parking

Cuestion I -4

Blinking red traffic light means
(A) stop the vehicle till green light glows

(B) stop the vehicle and proceed if safe
(€) reduce speed and proceed
(D) park the vehicle

Cuestion It -5

7

ARG § GIQ =T IR ISHEN DI AT 82
(A) NH-5 (B) NH-6

(€) NH-7 (D) NH-15

Question Id : 1

59 e (et <1 #) &1 R’y o § 2

(8) T7-9-HTE
(D) A7 =i

(A) =g
(©) =1 urfdsr

Cuestionld:2

Sfg XIGHRT (81%9) W B 99 UF qa e @
(A) 9 o9 FT TaAF R O ) w9 F9
b & |

(B) Irff o9 W Y& 9 T SRSl A
B

(©) 3aeHE o9 A | BRI @l & |
(0) frewrs § F91 & AU o0 kmph @
SR §9IY @ BT FI BN |

1 Rafar & oifder ey 2
(A) Fg5 & fBaR

(B) <T&T uifdhv1 o ergHfer ¥ |
© fhew oge & o

(0) ¥ urfr

Question Id -4

SYFGT Tel Sfbh alige &1 3 8

(Al_\’;ﬁﬁ?ﬁ%’ﬁmﬁmﬁ?fmﬂﬂﬁ
[

{B)ﬁmﬁﬂ%sﬁ?uﬁﬂﬁéﬁﬁa‘raﬂﬁ
|

© 7y &7 &R iR M 93 |

(D) grEst ®1 urh B |

Questionld: 5
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10.

11.

12.

Which Indian Institute developed a highly
sensitive nanometric scale - Carbon Monoxide
Sensor ?

(A) Indian Institute of Technology, Roorkee

(B) Indian Institute of Science, Mumbai
(€) Indian Institute of Science, Bengaluru
(D) Indian Institute of Science, Chennai

Question id : 6

Which team has won the 2017 UEFA Super Cup
Football Tournament ?
(A) Real Madrid

(C) Barcelona

(B) Manchester United
(D) Germany

Question ld: 7
Where was India’s first Aviation University
opened ?
(A) Punjab

(€) Uttar Pradesh

(B) Odisha
(D) Rajasthan

Question id: 8

Jallianwala Bagh massacre took place on
(A) 1913 (B) 1939
(©) 1930 (D) 1919

Question ld : ¢
Who has been appointed as the new Chief of
the Central Board of Film Certification (CBFC) ?
(A) Shyam Benegal (B) Naresh Chandralal

(D) Vivek Agnihotri
Question Id : 10

Who has been appointed as the new Chief
Justice of India ?
(A) Rangnath Yadav

(C) Dipak Misra

(€) Prasoon Joshi

(B) K. K. Mittal
(D) G. B. Patnaik

Cuestion la: 11
Which of the following metals was not known to
the people of the Indus Valley Civilization ?
(A) Iron (B) Tin
(C) Copper (D) Lead

Questionid ; 12

6.

10.

1.

R ICIA RS | I i T ———
THfed e - B AFIFIRE GISH B
faefra fopar & 2

(A) 9T drenfire) W, ea

(B) Wit fasm v, gas
© 9refrg fasm wvem, drae
O) I~ fagm s, o=

fPa &% 9 2017 UEFA R o9 pesfa

gAT ST § 2

(A) Rya Afge (B) #iwvexr gaTgs

(© g (D) St

URA &1 ygell faamm fovafeney o @

T 2

(A) Ty (B) 3nfeer

(€) IR yay (D) roTer

SiferalaTe qrT gTdte gom AT

(A) 1913 (B) 1939

(€) 1930 (D) 1919

bel e yAvE 9 ( (CBFC) & 71U yqw

b w9 H e Frge fear

(A) wr7 J916T (B) RerEg arer

(© g Sreh (D) s srftqer=h

ART & A @ W & ey 4 @e

e far e

(A) J=7er greg (B) &.&. o

(€ <us fysn (D) S}t yoamas
Questionkl ! 11

= 4 @ a9 @ arg Rig o) wwar &
AN B T T o

(A) Srer (B) &5

(© qrer (D) <y

Cuestion Id; 12
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43.

14.

15,

1%

18.

19.

20.

Which State is called the ‘Sugar bowl’ of India?
(A) Punjab (B) Uttar Pradesh
(€) Andhra Pradesh (D) Assam
Question ki ; 13
Which of the following is not a cash crop?
(A) Cotton (B) Tobacco
(€) Sugarcane (D) Maize
Questionbd ; 14
Which state has a separate Constitution?
(A) Kerala (B) Assam
(€) Meghalaya (D) Jammu & Kashmir
Question it : 15

Which of the following steel plants was set up in
collaboration of the former Soviet Union ?

(A) Durgapur (B) Bokaro

(€) Salem (D) Bhadrawati

Question Id | 16

In which city was the first underground bazaar
constructed?

(A) Delhi
(€) Bangalore

(B) Mumbai
(D) Hyderabad

Question Id - 17
According to Census 2011, which is the most
populated state in India?
(A) Maharashtra (B) Tamil Nadu

(C) Bihar (D) Uttar Pradesh

Question lo: 18

Name the single European currency which came
into circulation in 1999,

(A) Pean (B) Euro
(€) Doro (D) Eupean

Cuestion Id : 18
Of which country is Kangaroo the national
emblem?
(A) Canada (B) Italy
(€) Ireland (D) Australia

Question id | 20

13.

15i

16.

17.

19.

20.

BT G AW WRA BT PR IS PEea]

82

(A) gorrg (B) IT% yayl
(©) 3=y yeyr (D) 3raH

= A 9 o9 @ e wua T8 2
(A) HURY (B) g

(©) =71 (D) #HFpT

fpey T @7 yue wfdgr 27

(A) Fver (B) 3w

© Furer (D) SHY-BEHR

e 4 9 a9 w1 W wire (g w9
qd wIfad @9 & wean @ <o R

T 917

(A) gorfgR (B) gipRY

(©) gom (D) wgTach

foe sy § wem yfirg gk Pffe fe
T 77

(A) faeett (B) wqE

(©) Frar (D) EexTETE

2011 SFITOMT % HRA &1 Haifere

SIEET Tl g B G782

(A) FERTS (B) f¥yerrg
© fosr (D) IR gau

Question id: 18

S9 Udhel QRIS B OAH g8y o
1999 ¥ Yged d a8 |
(8) 7R

(A) i
(D) di=

(o} ey 3
HS fHE Qe &1 I gdfie &2
(A) waTET (B) geot

(€ smRevE (D) it feran

Question ki: 19

Question Id: 20

Page: 4


https://haryanajobs.in

https://haryanajobs.in

22,

23,

24,

25.

26.

27.

- Recently 9™ BRICS Summit 2017 was held in

which country?
(A) China

() Iran

(B) UAE
(D) Russia

Question Id: 21

Khajuraho monuments is in
(A) Madhya Pradesh  (B) Rajasthan

(C) Kerala (D) Andhra Pradesh

Cuestion |d : 22
What is the approximate percentage of the
Earth's surface covered by the oceans?
(A) 60 (B) 71
(€) 50 (D) 35

Question id : 23
Where do all the longitudes meet?
(A) The Equator
(B) The Tropic of Cancer
(€) The Poles

(D) The Tropic of Capricorn
CQuestion Id - 24

Which of the following is not a metamorphic
rock?
(A) Slate

(€) Quartzite

(B) Marble
(D) Granite

Which is the largest desert in the world?
(A) The Sahara (B) The Australian

(C) The Arabian (D) The Gobi
Where is the headquarters of the UN Security
Council?

(A) Geneva (B) Rome

(C) Vienna (D) New York

Question ki : 27

21,

23.

24,

25.

26.

27.

g & A Nl Iy a=iem 2017 g o9 &
3H?
.

(B) ¥gerT aRe amiRTe
(€ =

WORTE] VRS &
(A) 7eg gaor o

(©) B +

(D) <f3rm

Question Id : 21

(B) oI #
(D) o yaur

Question Id : 22

A B ATE B T e uive W
BRI afRe 82

(A) 60
© 50

(B) 71
(D) 35
CQuestion ld: 23
Gl AN Bl e &2
(A) e (B) e

(© gpat (0) 7ex

Question Id : 24

Frer & @ o1 W @ieoRa geem w6 &

(A) wre (B) Hrefe

Q) Fardsse (D) I-T3E

faeg & we9 g1 M= a9 @ T 2
(A) TRt (B) 3 ferarT
(© sRfgs (O) et

G YT, R URYY BT GRATAT FE 7
(A) forar (B) 3\

(© fa (D) =it

Question id : 27
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29.

30.

3.

32

33.

- Which is the longest key on a computer
keyboard?
(A) Enter key (B) Alt key
(C) Ctrl key (D) Space-bar

Question ld : 28

Name the cricketer who holds the record of
scoring the maximum number of runs in the
World Cup.

(A) Mark Waugh

(€) Rahul Dravid

(B) Sachin Tendulkar
(D) Saeed Anwar

Ouestion i : 29
Name the British-born Hollywood comedian and
producer who created the character of the
'Little Tramp'.
(A) Stan Laurel

(C) Oliver Hardy

(B) Charlie Chaplin
(D) Walt Disney

Question fd : 30
Choose the odd one from the following :
(A) 1000 (B) 7000

(€) 434 (D) 616
Question |d: 31
? : Weight :: Mile : Distance
(A) Light-year (B) Kilo-metre
(€) Kilo-gram (D) Litre
(uestion ld : 32
A’s weight is twice than B’s weight.
B’s weight is 4.5 times the weight of C.
C's weight is half the weight of D.
D’s weight is half the weight of E.

A’s weight is times the C’s weight.
(A) 4.5 (B) 8
(€) 9 (D) 2.5

Cuestion Id : 33
DELHI = IDHEL, TUFAN = ?
(A) TNAUF (B) NATUF

(C) NTUAF (D) NTAUF

Cuesfion id : 34

28.

29.

30.

3.

32.

33.

34.

BRI Hl-ae W TFgH g Py (Foll) B
@ 82
(A) =X @I

(©) Hgrer ot

fdvqs w9 4 waifde W 79 & Roe &
YR$ fhhex BT 19 gargy |
(A) 77 (B) @iy dgerax

© gt zfs (D) WgE AN

Question ld : 29

(B) 3o &1
(D) Wy IR

fafeer g =Ra & <=fmr ity a0 &
gifeiges wiufeaa v fmfar &1 = garsu |

(A) ®F R (B) =reit dufer
(© afferaw erst (D) Tree fEo

FrafaRed 5 9 favw &1 999 9w -
(A) 1000 (B) 7000

(€) 434 (D) 616

Question I : 31

?:W::W:F&ﬁ

(A) g ad (B) fpaiiex
(© frarams (D) faex
A ®1 999 B 9 T ¥ |

B & g5H C ¥ 4.5 71 ¥ |

C & I& D 3mr 2 |

D &1 9519 E & M § |

A D THH C & gud Q@ 2l
(A) 4.5 T (B) &
© 9 37 (D) 2.5 7

DELHI = IDHEL, TUFAN = ?
(A) TNAUF (B) NATUF

(© NTUAF (D) NTAUF

Question id : 34
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36.

36.

37.

38.

39.

40.

If we arrange all the words (given in the option)

alphabetically, which word would be last in the
arrangement ?

(A) Mouth
(C) Mother

(B) Mountain

(D) Monument
Question i ; 35

FIUL:BOQQ:: LHRX : ?

(A) BKPR (B) MNCC
() HRYY (D) HMNC

Question Id - 36
| am the girl child of my parents. If the person in

photograph is son of my father, what would he
callme?

(A) Brother (B) Sister
(€) Aunty (D) None of these
Choose the option, which represents / covers

other 3 options commonly.

(A) Gandhinagar (B) Gujarat
(€) India (D) Asia

Question id : 38
If in a code language, “min fin bin gin” means

“trains are always late”, “gin din cin hin” means
“drivers were always punished”, “bin cin vin rin”
means “drivers stopped all trains” and “din kin
fin vin” means “all passengers were late”,
answer the following question :

What will be the code for “drivers were late” ?
(A) min cin din (B) fin cin din

(€) fin din gin (D) gin hin min
Question bd ;39
tu it s usrtu_
(Fill in the blanks)
(A) rtusru (B) rsutrr
(C) rsurtr (D) rsurts

Question ki 40

35.

36.

37.

38.

39.

40.

IR = R g F?Tz I W? wE B
P T AR ?

(A) Mouth (B) Mountain

(©) Mother (®) Monument

FJUL : BOQQ :: LHRX : ?

(A) BKPR (B) MNCC

(€ HRYY (P) HMNC

3 W AR B des A § | afs
ﬂ‘ﬂ‘cﬂ’x‘ﬁ%’wwﬁ?mmﬁm*ﬁaﬂ%
a1 g8 HY FIT BEBY OlA?

(A) g (B) g&q
© =7t (D) g4 & B ﬂﬁf

S faped g 3 Reedl @ amER W
S ST § SHBT g B |

(A) =R (B) TSRTe
(€ ¥Ry (D) uf¥rm

gf fedl wibfos 91 &, “min fin bin
gin” @ 3 ® “trains are always late”,
“gin din cin hin” @1 2 “drivers were
always punished”, “bin cin vin rin” @1 3
& “drivers stopped all trains” 3R “din kin
fin vin” @I & “all passengers were
late”, @ =1 U¥ &1 SR

“drivers were late” & fory @1 a2

(A} min cin din (B) fin cin din

(© fin din gin (P) gin hin min
tu S usrtu _

R wﬁ‘r @t gfii @)

(A) rtusru (B) rsutrr

© rsurtr () rsurts

Question ki : 40
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41,

42.

43.

44,

45,

David gets on the elevator at the 11t floor of 2

building and rides up at the rate of 57 floors per
minute. At the same time, Albert gets on an
elevator at the 51 floor of the same building

and rides down at the rate of 63 floors per
minute. If they continue travelling at these
rates, then at which floor will their paths cross ?
(A) 19 (B) 28

(©) 30 (D) 37

Cuestion ki ;41

A boat covers a certain distance downstream in
1 hour, while it comes back in 1 hour. If the
speed of the stream be 3 km/h, what is the
speed of the boat in still water ?

(A) 12 km/h (B) 13 km/h

(€) 14 km/h (D) 15 km/h

Question Id : 42

A man can row three-quarters of a kilometre
against the stream in 11 minutes and down the
stream in 7 minutes. The speed (in km/hr) of
the man in still water is

(A) 2 (B) 3
€ 4 (D) 5
CQuestion Id : 43
42X42-19%x19.
Is equal to :
23 x61
(A) 0.5 (B) 1.0
(€) 20 (D) 22
Question Id | 44
The rational number for recurring decimal
0.125125 .... 15 :
(A) 63 (B) 119
487 993
(€ 125 (D) None of these
999

Cuestion I - 45

42.

43.

45,

2
(B) 13 fF+i/ger
(D) 15 f&diger

Question fd : 42

U6 Al fharfiey &1 3/4df 97 yar %
ﬁwﬁfi‘meﬁahﬂﬁgwwwéaﬁ?

(A) 12 B/
(© 14 fHEH/ger

7 fore & 3TqIare H AIBIIER B HHaT ©
a‘rﬁmwﬁmﬁﬁnﬁuﬁﬁzé&)w
g2
(A) 2 (B) 3
C) 4 (D) 5
4.2 x 4.2 — 1.9 1.9 ﬁﬁﬂ_cl\j_ SRR %_?
2.3 x6.1
(A) 05 (B) 1.0
(@ 20 (D) 22
AT TUHAT 0.125125.. . IRAT  H=
B & 22
(A) 63 (8 119
487 993
(@ 125 ) 39 & #1g =
999

Cuestion Id: 45
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46,

47.

48.

49,

50.

51.

A, B and C start at the same time in the same
direction to run around a circular stadium. A
completes a round in 252 seconds, B in 308
seconds and C in 198 seconds, all starting at the
same point. After what time will they again at
the starting point ?

(A) 26 minutes and 18 seconds

(B) 42 minutes and 36 seconds
(€) 45 minutes
(D) 46 minutes and 12 seconds

Question id : 46

A is two years older than B who is twice as old
as C. If the total of the ages of A, B and C be 27,
then how old is B ?
(A) 7

€9

(B) 8
(D) 10

Cuestion Id: 47
A person's present age is two-fifth of the age of
his mother. After 8 years, he will be half of the
age of his mother. How old is the mother at
present ?
(A) 32 years

(©) 40 years

(B) 36 years
(D) 48 years

Question Id : 48
Three times the first of three consecutive odd
integers is 3 more than twice the third. The
third integer is:
(A) 9

(€) 13

(B) 11
(D) 15

Question i : 49
The average of 20 numbers is zero. Of them, at
the most, how many may be greater than zero ?
(A) 0 (B) 1
(€) 10 (D) 19

Cuestion Id : 50
The Great Spot is on the planet
(A) Saturn (B) Venus

(€) Mars (D) Jupiter

Question Id : 51

46.

47.

48.

49.

50.

51.

A B 3R C T JOToR €fRT™ & =Rl
P 8 feenm 4 v & 9wy w
& B |

(A) 26 e QiR 18 dpvs
(B) 42 fie 3R 36 Tave
(€ 45 fame

(D) 46 fiFfe @ik 12 Fwve

Cuestion id : 46

T 9T € B A, A C A T %7 2

T A B 3R C B 97 1 A7 27 &), ) B
I IH FUT EF?

(A) 7 (B) g

€ 9 (@) 10

U AR B Gw9E 95 s qf B 9w
2/5 WM ¥ | 8 W 4% a8 AU H ) wH
T I BF BT OB ST | Ay w9 adar
S T BN

(A) 32 AT (B) 36 WIS

© 40 HTaT (D) 48 HTH

d R quife & ¥ 3 WEl ¥ A dR
quites 1T T B2

(A) g (B) 11

(€) 13 (D) 15

Question ld : 49

20 Hegelt @1 ol g § | IR 9 warer
| e frad = @ 9 gl

(A) o (B) 1

© 10 (D) 19

Question id : 50

B W T W YT Wie
(A) wrfy

(€) 1

Cheestion d : 51
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52.

53.

54.

55.

57.

50.

https://haryanajobs.in

Biosenlsor is used to measure 52.
(A) Blood glucose level (B) The body pH value
(€ Amount of hemoglobin
(D) Salinity in Urine

CQuestion Id : 52
Digestion of food s completed in the]ss.
(A) small intestine (B) large intestine
(€) Stomach (D) Liver

Gueston Id : 53
Meteorology is the study of 54,
(A) Seasons (B) Atmosphere
(€) air and sounds (D) winds and clouds

Question g : 54
Deficiency of Vitamin-B1 causes 55.
(A) Night blindness (B) Beri-Beri
(©) Scurvy (D) Rickets

Question Id : 55
The source of oxygen in photosynthesis is 56.
(A) Water (B) Salts
(€) Minerals (D) Glucose

Question id : 58

Who is considered the founder of meteorology? | 57.

(B) Plato
(D) Newton

(A) Aristotle
(C) Einstein

CQuestion Id- 57

About 50% of the Earth’s crust, including the | 5s.

waters on the Earth and atmosphere, is
(A) Oxygen (B) Cabon dioxide

(©) Silicon (D) Clay

Question Id : 58

If we heat one end of metallic rod, the other | 59.

end gets hot. The method of heat transfer is
(A) Conduction (B) Convection

(€) Radiation (D) None of these

Queston fd : 59

WWWWW%W%&T
ST &2

(A) 3aq wrdbxr (B) YRR pH &9

€ EHraifas &)

(®) 75 % Fgor

(A) Bt aig (B) gt arig

(©) aHT9Rg (D}?Iqrd
Wﬁaﬁﬁmmﬁmw%
(A) =ggait @7 (B) grefraRor 1

(© Ear 3w &fy 7

(D) 97 @R sTeat @

ReTRrB1 2 o & 2 & |
(A) <afeft (B) -8

(©) e (D) Rbew

gfﬁmmﬁw q iR @1 W
|
(A) g (B) w¥ep

(© o (D) TepTT
ﬁﬂ#rﬁwﬁwqmﬁwwmm%?

(A) 3wy (B) @y
€ g (D) =reH
Cuestion Id : 57
qAERT AR gt W we @Ry gedl @t
YUl BT ST 50% 2|
(A)  afferdfrorsy
(B) wrdw Trgsiiadse
© faforpr (D) free

AT B U F IR F v RR BT e
© A OgW OBR W @ war & | e
WIFIARYT B I8 B & glpar &2

(A) Hrem (B) FHegs

(©) fafvor O) 395 & H1F 7

Question fd : 52
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60. Bronze is an alloy of 60. BTy sy &
(A) Iron, Carbon (B) Nickel, Zinc (A) 3w, HEs (B) e, foim
(€) Mercury, Lead (D) Copper, Tin € 759, o (D) BrR, fos

Cuestion Id - 60 Question id : 60
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61.

62.

63.

B5.

66.

ENGLISH LANGUAGE

Choose one option that expresses the meaning
of the sentence.

A man with abnormal habits.

(A) Eccentric (B) Arrogant

(C) Self centered (D) Supercilious

Cuestion Id : 61

Choose one option that expresses the meaning
of the sentence.
Animals that eat flesh.

(A) Carnivorous (B) Graminivorous

(D) Herbivorous
Question Id : 62

(€) Vegetarian

Choose one option that expresses the most
appropriate meaning for the Idiom out of four
options.

In the teeth of
(A) real cause

(€) in the end

(B) in the face of
(D) to chase

Cuiestion Id : 63

Choose one option that expresses the most
appropriate meaning for the Idiom out of four

options.

Ins and Outs

(A) no details (B) finally

(€) major share (D) full details

Question id : 64

Choose the most appropriate preposition out of
four options :

She jumped the river.

(A) on (B) in

(©) into (D) to

Question Id ; 65

For blank space, choose the proper article :

Do you speak Chinese ?
(A) a (B) the
(€) an (D) no article

Queston Id : 66

67.

68.

69.

70.

For blank space, choose the proper article :

| need bottle of water.
(A) a (B) the
(€) no article (D) an
Cuestion Id : 67
Choose the option that expresses the
meaning of the given word.
AGONIZING
(A) Bold (B) Risky
(€) Painful (D) Skilled

Question |d : 68
Fill in the blanks with suitable option.
He is a person, he eats all the time.
(A) Skilled (B) Voracious

(€) Slanderous (D) Biased

Question id | 69
Choose the option that is opposite in meaning
to the given word.

EMINENT
(A) Famous (B) Sad
(©) Imminent (D) Unknown

Question Id : 70
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7

72,

73

74.

75,

76.

77.

78.

= Wy

R AH W R b AE 9 BT @ @
JHR 8?2

(&) w1g greg (B) &+ qrey

© &g areg

(O) 9rg arey AR H arr <Y

Cuestion Id: 71

e & & efifer o &
(A w9 (8) ey
© ot (0) Rig

(&) rr-den (B) aR-gyy

© Se-Sier (D) der-tfeg

ST W WA AR & R e o
g

(A) EW%ﬂ?ﬂ?[ (B) JagE

© Tgerhia (D) gg=sier
PP BT FHGA el &

(A) grr-arfeer (B) gg-fpamy
(© ger-anT (D) Ser-am
Fre 4 1 5w o & v suet &
W gemh (B) g=Tre

©Q gy (D) Fepv
REEET g A B9 A qT o L2
(A) =7 (B) g7

(© e (D) af

Question id: 77

e & @ 19 < a0 w9l 2
(A) Prged (B) Figea
() Prger (D) Paeer

Question ki : 78

0. BH W BT qHigeT e &
B) iR, ik, wferer

(A) Fx, 3fg), g
(Q) a7, 3/, wet

(0) Srerst, wxfye], et
80. YA BT FA ey &

(A) it
(€ =feepr

(B) T=fioft
(D) =rgERy

Question Id - 79

Question id : 80
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81.

82.

83.

85.

86.

87.

https://haryanajobs.in

‘Bhakt-Bharti’ and ‘Satyagrahi Prahlad’ are the|s1.

poetic creation of
(A) Tulsidas Sharma Dinesh

(B) Uday Bhanu Hans

(€) Lakhmi Chand (D) Pt. Mange Ram

Cuestion Id ; 81
Haryana shares its border with
(A) Punjab (B) Rajasthan
(€) Himachal Pradesh (D) All of these
Question | : 82

The Aravalli Hills are also locally known as
(A) Morni Hills (B) Mewat Hills
(€) Tipra Hills (D) None of these

Question [d : 83

The irrigation network in Haryana can be
divided into how many parts ?
(A) Two (B) Three

(©) Four (D) Five

Question i : 84
Famous tourist complex Dabchick on Delhi-Agra
highway is situated in the district
(A) Palwal (B) Gurugram
(€) Karnal (D) Sonipat

Question Idf : 85
Who was the First Chief Minister of Haryana ?
(A) Manohar Lal Khattar

(B) Bansi Lal
(€) Bhupinder Singh Hooda
(D) Bhagwat Dayal Sharma

Question Id : 86
Bhiwani is known as “Little Cuba” of India, due
to large number of who hail from the
region.
(A) Coaches

(€) Athletes

(B) Boxers
(D) None of these

Question Id; 87 |

82.

83.

84,

85.

86.

87.

HR-IRAT 3R TGI8 Tealler  fraa!

FTATHD Hfordr &2

(A) gorder et sy

(B) Seg 9 &9

© T=At g (D) 4. w7y 9
Eﬁﬂmaﬁ@mmwawm%'
(A) gorg (B) o

©) feorasr udyr (0) 7g |t

IR TR B T B W T e
A S e ®

(A) A=+t geifeat (B) #ara yerfedt

© fauRT verfeyf @) g9 | #1578
BRI § RiE Yead @ feay am ff
§IeT ST gHdr 27

(A) =} (8) e

© TR (D) qrg

feeef-omRT WMt W e qieT @i
e fFa e § Reg 22
(A) gerger

(€ HF7e

BRATOT & oM g @ 9 o
(A) 7 IEY &t weex (B) g orer

Question ki : 85

O 9=z Riz ge1 (0 wae qarer vt
& A e wew W b BN b
wﬁaﬁﬁmﬁw%“%ﬁaﬁm”as
Y H ST T §

(A) mfrerent (B) Herdarait

(©) veshe @) T & B 75

Question Id : 87
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89,

90.

91.

92.

93.

Who won India’s first ever Gold Medal in
women’s wrestling in the 55 kg freestyle
category at the 2010 Commonwealth Games ?
(A) Babita Phogat (B) Suman Kundu

(€) Geeta Phogat (D) Vinesh Phogat

Question ki : 88
A famous personality from Haryana, Yashpal
Sharma, belongs to

(A) Cinema (B) Politics

(D) None of these

Cuestion o . 89

Govt. of Haryana launched its First Food Bank
with support of Cargill to support various
feeding programmes at
(A) Ambala

(C) Hisar

(€) Journalism

(B) Bhiwani
(D) Gurugram

Question |g - 90
Who has been appointed as State Brand
Ambassador of Haryana Government for “Beti
Bachao, Beti Padhao” Abhiyan ?
(A) Sakshi Malik (B) Priyanka Chopra

(C) Saina Nehwal (D) None of these
Question Id ; 91

In which district(s) of Haryana, Thermal Power
Station situated ?
(A) Hisar

(€} Yamunanagar

(B) Panipat
(D) All of these

Question jo: 82
The biggest animal farm of Asia is in which
district of Haryana ?
(A) Hisar

(C) Panipat

(B) Faridabad
(D) Jind

Question ki : 93

88.

89.

80.

91.

92.

93.

fe 2010 HSA Well # 55 kg Wieesa

T # Afgen Rt # 9RT &1 veH WYY U@
)

(A) gdfier ®rTe (B) w1 pug

(© fr wrre (D) faerer wrTe

gﬁ@mawm?mﬁ R

|

(A) Ry (B) RTSieiifey

(©) gxHTRET D) 379 | H1F 8

CQuestion Id : 69

faf wrer srdwAl & e & forw el
WHR 4 IROE & G0 & @ g
Ugell Wrel db dal w@nfud fear 2
(A) srTeT (B) fiyar=i

@ fraR (D) T

A gEmel, I ugeh WM ¥ R
BRI WWEHR &1 Iy g0 VRS

e frar a2

(A) 1 wfers (B) ffepT =ueT

(€ wrg=r “eare (O) g% & HF 7
o H e R § wle g v
Rera &2

(A) R (B) gritug

(© FHATR (P) 3 |

TR &1 99 g1 vy B sRaon & Ry
forer # Rearg & 2

(A) feor (B) weTeTg

(©) gty (D) S

CQusestion Id : 83
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94.

95.

96.

97.

98.

Match the following :
List-1
(a) Panipat
(b) Rohtak
(c) Panchkula
(d) Ambala
List-11
(i) Tilyar Lake
(i) Kala Aamb
(iii) Kingfisher
(iv) Red-bishop
(A) a-i, b-iii,c-iv,d -ii
(B) a-ii, b-iv,c—iii,d-i
(€) a-ii,b-
(D) None of these

Lo d= il

Question Id ; 94
Which dance of Haryana is performed by
women at the house of bridegroom ?
(A) Ghumar Dance (B) Khoria Dance

(€) Jhumar Dance (D) Gugga Dance

Question Id : 95

The Zakir Hussain Rose Garden is situated in
(A) Pinjore (B) Chandigarh
(C) Panchkula (D) Ambala
Cuestion id : 65

In Government of Haryana, department of
Industries & Commerce is allotted to the
Minister

(A) Vipul Goel
(€) Anil Vij

(D) Falls under Union govt.

(B) Kavita Jain

Question I - &7

After Anti-Romeo squad launched by
Government of U.P.,, Government of Haryana
launched

(A) Mahila Raksha Squad

(B) Durga Squad
(€) Jagrut Mahila Squad
(D) None of these

CQuestion |d : 98

94.

95.

96.

97.

98.

SERECIEECHIN S

(@)
(b)
()
(d)

-1
RTETD
T
qel-11
(i) ferer@R sier
(ii) Pre 37
(jii) fHTfheR
(iv) V-
A a-li, b~1i,c— md-ii
B a-lkb-We=id=i
@ a=ilib =0 e~ ivid =

(D) == & P el

eRamm # Al gRT ged B W W GBI
a1 J foear Ser 82

(A) R Fea (B) e e

(©) R T (0) [ T

Sfepr g o1 e R g .
(A) iR (B) = Shre

(©) g (D) 3feretr

R AR H SE ud aiftr fawr
fra 93t @1 sdfed fear war 22
(A) frget e (8) HRmET

© afve s
(D) ¥y GxedR & IEfl= 3nar ® |

Cuestion ki : 57

IY. U¥PN ERI UG wWHEE U
FI b g8 BRI TRER T TR fHar
(A) Afgerm vem wrte (B) gl wEis

(©) S wfee S

(D) g9 | PIg &l

Question id : 98
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99. In Feb. 2017 NABARD Sanctions loan

to Govt. of Haryana for drinking water supply
scheme.

(A) X 257 crore
(€) ¥ 157 crore

(B) ¥ 317 crore
(D) X 111 crore

Question Jd: 99

100. Which is the 2204 district of the state Haryana?
(A) Hadol (B) Charkhi Dadri
(€) Bilaspur (D) Bapolli

Question id ; 100

9. BRAAN 2017 H AL A Pord Sy Aror
& fov =RImT wWeR @Y &
FUT HoR A § |
(A) % 257 P (B) ¥ 317 BIe
© T 157 @xre () T 111 Pre

100. BRYTOT ITg ®7 2291 Rremr &9 @7 &9
(A) grsTor (B) =& gred
(© fremrgR (D) qroredt
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1.
12.

13.

15.
16.

17.
18.

20.
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